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Directions— (. 1-25) What

should come in place of the question
mark (7} in the following questions. 7

1.

10.

gmdgmm;mu?ﬂnz
(A} 3575 (B) 3475
(C) 3425 D) 3215
(E} Wone of thesa

. THE +Mx12=7

(A) 1444 (B) 1844
C) 1584 (D) 1704
{E) Mone of thase

B304 + 1525 + 35004 = 7
(A) 11433 (B) 11468
(C) 1142004 (D) 11454

(E} Nong of these
1287 235 15
1645 *572 T3 =7
4 1
A 29 B 55
4 1
icl 7 0 5
(E} Mone of these
. (T8S56 + 3214 + 6218) + 7 =3064
(A} 450 {B) 540
iC) 480 (D) 520

(E) Mane of these

Y5124 Y331 =5

A 19 (B) 228
icy 17 (D) 289
(E) Mone of these

(B4 = 2532 208=7
(A} 084 (B) 58
{C) 508 (D) 604
(E) Mone of thesa
(127 + (7] + 125 =32
(A} 18 (B} 14
c) & o) 18
{E) Mane of these

, AT =Tx3=7
ia) 757 B 777
(€) 769 (D) 778
(E) None of these
75% of 280 - 24% of 45 =7
(&) 184-5 8) 185
C) 1982 (D) 198

(E} None of thess

125x16+25

Eax55-102" |
(A} 45 B) 12
c) 9 D) &

12

14,

15.

17

18.

19.

21,

(E) None of these

7B9613 - 658748 — 124563 = 7

iA) 8302 (B) 6230
{C) 6320 (D) B0&2
{E) Mone of these

TP +5F + 4P+ 182 =7
() 16875  (B) 468-25
(C) 368-0625 (D) 368-25
(E) None of these

\fmumﬂ:-q'-‘nz.?
(A) 56 (B) 49
(C) 63 (D) 42
(E} MNone of these
TB45 - 3621 + 1487 = 7
(A} 5711 (8) 2737
(C) 11422 (D) 12953
(E) HNone ol these

. S8« 2B-1020 =7

(A) 514 {E) 554
{c) e12 (D) B4z
{E} Nona of thesa
38060 - 24378 = 7 + 4224
() 10639 (B) oas4
() 11369 (D) 10963
(E} Maone of these

{255 = 2000) + 5000 25 = 7
() 408 (B} 2550
(C) 4580 (D) 255
(E) MNone of these

5040 + Mol 040 =8

(A) 45 (B) 60

ic) 75 D) 50

(E) Mone of thess

. 2BB x B4+ 150 + 25m 7
(&) 74328 (B) 248528
(C) 18432 (D) 18438
(E}) Nome of thase

B4TE + T = 45 + 32 = 5000
(4) 56 (8) 45

(C) 65 (D) &4

{E} None of thase

22, 3654 + V1764 + 7= (10)2

() 18 {B) 13

C) 8 o) 12
(E) Mone of these

. T4 2+ Tuld =93

Ay 3z B) 35
c) 36 (O) 28
(E) Mone of these
508 + 25 m 7% of 850
(A) 344 (B) 356
C) 368 D) 364
(E) None of these

. (284 + 114 + 324) + (B52 - 548

—6d) =7
(&) 1525 B) 18-75
iC) 205 (D) 18-05
(E} Mone of these
50 people can complete & piece
of work in 40 days. In how many
days can 100 people with twice

(A) 20days (B) 10days
(C) 15days (D) 25 days
{E} Mone of these

. In how many diterent ways can

the leflers of the word ‘TASTE'

be arranged 7
(A} 120 (8) 80

ic) 50 D) 40

(E) MNone of these
.Inl:lmmmmﬂm;ﬂwm
muummmmw%m
of the total number of boys join a

cricket club. if the tolal mumiber of
boys joining the club is 27. What
is the respective ratio of the total
number of boys to the total
numiber of girks joining the chub 7
(A) 2:9

B) 3:2

{C) a:2

(D) Cannot be determined

(E) Mone of these

. Mesashu gots T 110 for avery day

that he works, If he eams T 2,750
in a month of 31 days, for how
many days did he work 7

(A) 25days (B) 28 days
(C) 26days (D) 24 days
(E) None of these
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a0, Tha averags waight of 60 students

.

in & class was calculaied as 40

kg. later it was found that the

waight of oné of the studan! was

calcutated as 36 kg., whereas his

actual waight was 33 kg, What is

the actual average weight of the

students in the class 7

{A) 39-80kg. (B) 3995 kg

{C) 38 kg (D) 38 kg.

(E) None of thass

Two years ago the ratio of the

wnf Swali and Khyati was
7 respectivaly. Two years

. The cost of 11 kg, ol Sugaris

T 264, The cost of 14 kg, of lea is
T 252 and tha cost of 17 litre of
mill is T S44. What is the tolal
cost of 24 kg. of Sugar, 21 kg. of

tea and 25 litre of milk 7
(A) T1.745 (8} T 1,800
iC) T1.825 (D) ¥ 1,764

(E) Maone of these

. Two candidates fought an elec-

tion. One of them got 75% of the
total voles and won by 750 votes.
What is the total number of voles
polled 7

(A) 1800

(B) 1200

(C) 1500

(D) Cannol be determind

(E} None of thase

. What least number should be

added to TBS to make i a perfect
square ?

(A) 115 (B) 48

(C) 58 (D) 52

(E) Nona of these

. What approximate amount of

compound  interest can  be
obtained on anamount of T 1,542
at the rate of 4 p.cpa. after 2

yoars 7
(m) T126
C) Tizz2
(E}) T1i3s
Whal approximate value should
come inplace of thaquastion mark
{7 in the following question 7
(45)% +BT4 = 55= 7

By 7130
o) T 115

41.

(A 2 By 17
cy 9 (D) 13
{E} 15

M. Shrimant inherits 2505 gold
coing and divides them amongst
his 3 sons Bharat, Parat and
Maral in a corain ratio. Out of
the total coins received by each
of them, Bharat sells 30 coins,
Parat donates hig 30 coing and
Marat loses 26 coins. Now the
ratio of gold coins with them is
46 : 41 : 34 respectively. How
many cpins did Paral receiva
fraem his father 7

(A) 705 (B) 950

(C) 800 i) 850

{E)} Mone of these

. Suman purchases 15 boxes of

Each box contains 8
dozen mangoes. How many

mangoes did Surnan by ?
(A} 1440 (B) 96
(C) 2256 o) 120

{E} Mone of these

., Sonia  imvested an amount of

T 17,500 at the rate of 8 p.c.p.a.
After how many years will she
obtain & simple inferest of
T 16,800 7

(A) 15yoars  (B) 8years

(C) @years (D) 12 years
(E} Wone of thess

. 35%, of & number is B39-5. What

is 8% of thal number 7

() 17129 (B) 17476

() 18982 (D) 17733

(E) Mone of these

Tha average of five positive inle-
gers Is 385. Tha average of the
first two integers is 568-5. The
average of the fourth and fifth
integers (s 187-5. What is the
third integer 7

i) 420

B) 32

{C) 415

(D) Cannot be determined

(E} Mone of these

. Find the average of the follewing

sat of scones—
351, 244, 479, 588, 105, T8, 483,
536

(A) 479 iB) 356
(C) 424 (D) 258
(E) Mone of these

47,

. The sum of the: two digits of a two

digit number is 13. The differance
betwesn the two digits of the
number s 3. What is the two-digi
numiper

(a) 85

B) 49

(C) 58

(D) Cannat be determinad

(E} Mora of these

. Thi sum of the squares of two

COMSBLULVE POSni. « Odd NUMbers
& B850, Which is the larger num-
bar T

A 17 By 21

cy 23 {n) )

(E) MNone of these

. What should come In place o 552

question-mark (7] in the following
numbsr garies 7
5 11, 23, 41, 65, 95, 7
(Ay 13 {B) 125
(C) 137 (o) 121
(E} Mone of thase

When an amount of T 1,583,965
divided equally amongst 120
poeople, how much approximate
amount would each parson get 7

(A} T1330 (B) T1.315
(C) T1335 (D) 320
(E) 71,325

Venkat has some ducks and
some sheep. If the total number
of animal haads is 81 and the
total nembser of animal feet are
268, how many sheep does
Venkal have 7

(A) 28

B) 53

(C) a4

(D) Cannot be determined

(E} Mona of thase

. 25 Shirt pieces of 125 cm. each

can ba cut from a reel of cloth.
After cufting these pieces 80 cm.
of cloth remains. What is the
length of the reel of cloth in
e 7

{A) 3215 melre

{B) 3515 melre

{Z) 3215 metre

(D) 3515 matra

(E} Mone of these

. A car covers a cenain distance al

the speed of 54 km.hr. in &
hours. What is the distance
cvovaned by the car 7
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(A) 42BKm. (B) 444 km,
(C) 432km. (D) 430 km.
(E) Mone of thass

50. The profit eamned after seling a
pair of shoes for T 2,033 is the
same as loss incurred afler
selling the same pair of shoas hor
T 1,063, What is the cost prica of
e shoas 7
(A) ¥ 1,850
(B} T1548
[C) 1532
(D) Cannot be deterrmined
(E} Mone of these

Answer: Numerical Ability

1 B 26 B
2 B 27 E
3 E 28 C
4 A 29 A
5 A 30 B
6 E 31 A
7 E 32 E
8 D 33 C
9 B 34 C
10 C 35 A
11 C 36 D
12 A 37 D
13 D 38 A
14 D 39 D
15 A 40 B
16 E 41 E
17 E 42 D
18 B 43 D
19 C 44 E
20 D 45 A
21 C 46 E
22 B 47 B
23 A 48 C
24 C 49 C
25 D 50 B




